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1. Which of the following statement is/are correct about colonialism in India ?

i. Indian economy was integrated with the world capitalist system but in a subservient
position.

ii. India produced capital — intensive goods.

iii. Large part of India’s savings was appropriated by the colonial state.
iv. Commercialization of agriculture led to capitalist farming.

A) Onlyiandii

B) Only ii and iii

C) Only i and iii

D) All of the above (i, ii, iii and iv)

2. Match the following.

i. Bipinchandra Pal —  Sanjivini

ii. Aurobindo Ghosh — New India
iii. Brahmobandhab Upadhyay @ — Bande Mataram
iv. Krishnakumar Mitra — Sandhya
A) i — New India, ii — Bande Mataram, iii — Sanjivini, iv — Sandhya
B) i— New India, ii — Bande Mataram, iii — Sandhya, iv — Sanjivini
C) i—Bande Mataram, ii — New India, iii — Sanjivini, iv — Sandhya
D) i — New India, ii — Sandhya, iii — Sanjivini, iv — Bande Mataram

3. Which of the following statement is/are correct about cause of French Revolution ?
i. The inability of King to carry forward centralised administrative processes.
ii. Tension between the nobles of the robe and the nobles of the sword.
iii. Peasant had to give the fee called banalities.
iv. Physiocrats were against monarchical absolutism.
A) Onlyiandiv
B) Only i and iii
C) Only ii and iii
D) All of the above (i, ii, iii and iv)
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4. Revolutionary Catechism was written by
A) Lenin B) Bakunin
C) Sergi Nechaev D) Stalin

5. Kerala Mitram was published on the initiative of
A) C. Kunhirama Menon B) Herman Gundert
C) Deviji Bhimiji D) T. K. Madhavan

6. Hungary’s first female President
A) Katalin Novak B) Andrea Mager
C) Anna Ratko D) Valeria Benke

7. In remote sensing, the term used to a set of values which reflect or radiate from the
object is called

A) Spatial Resolution B) Spectral Signature

C) Electro Magnetic Radiation D) Active Sensors

8. Which one of the following is not correctly matched ?
a. Primary wave : Compression or rarefaction waves
b. Secondary wave : Distortional waves
c. Surface wave : Longitudinal waves
d. Rayleigh wave : 1887
A) a and b only B) donly
C) conly D) c and d only

9. Identify correct fact about regional division of Himalaya.
i. Punjab Himalaya is in between river Indus and Satluj.
ii. Nepal Himalaya extends between river Kali and Tista.
iii. Assam Himalaya is in between river Tista and Brahmaputra.
iv. Kumaon Himalaya extends between river Satluj and Tista.
A) All of the above B) i, ii and iii
C) ii andiii D) iandiv

A -4-
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10. Which one is not the characteristic features of Coriolis force ?
A) Coriolis force is an effect of rotational movement of the earth
B) Coriolis force do not becomes effective on any object which is in motion
C) Coriolis force affects wind direction
D) The magnitude of Coriolis force is determined by wind speed

11. The climate of Kerala as per Koppens classification is not true
A) Tropical moist deciduous monsoon with seasonally fair rainfall
B) Thiruvananthapuram district, climate as tropical savana with seasonally dry and hot
summer weather
C) The climate is pleasant from September to February
D) Summer months is uncomfortable due to high temperature and humidity

12. Find right from the given statements.
a. The Bara Shigri glacier is in Lahul Spiti Valley.
b. Outflow from the glacier provides source water to the Son River.
c. Lahul Spiti located on the northern slope of the Pir Panjal Range of the inner

Himalayas.
d. The Lahul Spiti are connected to the rest of Himachal Pradesh via the Lipule Pass.
A) aandc B) bandd
C) a,bandc D) all of the above

13. Which of the statement is not correct relating to NAM ?
A) Integration of APMCs across the country
B) Here goods are being sold without any mandi tax
C) Provide asymmetry information to buyers and sellers
D) Itis a common online trading platform for non farm goods

14. Which of the following statements relating to Rashtriya Krishi Vikas Yojana is not
correct ?
A) Allowing States to choose their own agriculture activities
B) Itis a scheme with 100 percent central assistance
C) It promotes agri-entrepreneurship and innovation
D) In 2017 it is renamed as RKVY-RAFTAAR

A 6
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15. Match List — | (Institution) and List — Il (Sector) and select the correct answer using
the codes given below the lists.

List -1 List -1l
a. FITCH 1. Tourism industry
b. IFCI 2. Credit rating
c. TFCI 3. Venture capital
d. CCIL 4. Government securities
Codes :

a b ¢ d
A1 4 3 2
B2 3 1 4
C)4 3 1 2
D)4 2 A1 3

16. The real architect of India’s GST
A) P. Chidambaram B) Vijay Kelkar
C) Nirmala Sitharaman D) Azim Dasgupta

17. Name the initiative launched by NITI Aayog for transforming elementary and
secondary education.

A) SSA B) RMSA
C) E-AMIRT D) SATH-E

18. Consider the following regarding FAME India Scheme, which of the following
statement is/are correct ?

i. The first phase of the scheme was launched in 2015.

i. FAME refers to Faster Appropriation and Manufacturing of Hybrid and Electric
Vehicles.

iii. The scheme was implemented by Ministry of Heavy Industries.
iv. The second phase of the project is being implemented from April 1, 2019 for three

years.
A) Onlyiandiv B) Only ii and iii

C) Only i, iii and iv D) Only iii and iv
A 8-
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19. The speaker of Lok Sabha should send his resignation to
A) The President B) Prime Minister
C) Deputy Speaker D) Vice President

20. The principle of double jeopardy means
A) An accused persons shall not be compelled to be a witness against himself
B) Punishment shall not be imposed retrospectively
C) A person shall not be prosecuted and punished twice for the same offence

D) A person shall not be subjected to a penalty greater than the one prescribed by law
at the time of commission of the offence

21. The Governor of the State shall take oath before
A) The Chief Minister
B) The President
C) The Chief Justice of High Court
D) The Chief Justice of India

22. Constitutional obligation to give legal advice to the Government of India lies on
whom

A) Secretary, Ministry of Law and Justice
B) Attorney General of India

C) Chief Justice of India

D) Solicitor General of India

23. All disputes relating to the election of the President shall be decided by
A) The Supreme Court B) Any High Court
C) Election Commission of India D) Central Administrative Tribunal

24. Concept of Equality before law means
A) Absence of any special privilege B) Like should be treated alike
C) Supremacy of the Constitution D) Equal protection of laws

25. Which writ may be issued against a public official directing him to perform his legal
duty ?
A) Habeas Corpus  B) Certiorari C) Quo warranto D) Mandamus

26. State shall provide free and compulsory education to all children at the age of
A) Six to fourteen years B) Six to eighteen years
C) Four to eighteen years D) Four to fourteen years

A 10-
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27. Who is the Present Chairperson of GST Council ?
A) Sri. Narendra Modi

B) Smt. Nirmala Sitharaman
C) Sri. Shaktikanta Das
D) Smt. Rekha Sharma

28. The State Finance Commission of Kerala has been constituted on account of the
Kerala Panchayat Raj Act, 1994. Which of the following statement (s) regarding the
Kerala State Finance Commission is/are correct ?

29.

i,
i
A)
C)

The Commission consists of such members not exceeding three including the
Chairman.

No member of the Commission is eligible for reappointment.

The Commission reviews the financial position of the Panchayats.
Only i andii B) Only ii and iii

Only i and iii D) All the above (i, ii and iii)

Akshaya Project in Kerala, has been launched in 2002 as a network of Common
Service Centres (CSC) envisioned to deliver digital services to the public and to
enhance digital inclusion. Which of the following statement (s) stay (s) closer to the
objectives of Akshaya project ?

To harness Information and Communications Technology (ICT) to build and better
services for transforming the relationship between Government and State.

. To ensure that the Government achieves its delivery priorities, across the key areas

of public service.

iii. To understand current and future demand for digital skills in the economy.

iv. To impart the ICT skills to the youths of Kerala and improve their employability
opportunities for industry.

A) Only i, i and iii

B) Only ii, iii and iv

C) Only i, iii and iv

D) All the above (i, ii, iii and iv)
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30. Which of the following Legislative Committees in the Kerala Legislature is authorised

31.

32.

to scrutinise and report to the Assembly whether the powers to make Regulations,
Rules, Sub-Rules, Bye-laws etc., conferred by the Constitution or delegated by
the Legislature or by the Parliament on the State Government are being properly
exercised within such delegation ?

A) Business Advisory Committee B) Committee on Public Undertaking
C) Committee on Public Accounts D) Committee on Subordinate Legislation

The Kerala Administrative Service (KAS), which was formed on the lines of the
Indian Administrative Service came into effect on November 1, 2021. Which of the
following objective (s) of the Kerala Administrative Service (KAS) is/are correct as
per the Kerala Administrative Service (KAS) Amendment Rules, 2019 ?

i. Tobuild a cadre of public servants as a second line of managerial talent for Government
for effective implementation of Government policies and programmes.

ii. To provide opportunities for bright, talented and committed officers in Government
Service and prepare them for senior level administrative and managerial positions
in Public Service.

iii. To constitute the feeder category for the recruitment of Indian Administrative Service
Officers in Kerala Cadre.

A) Onlyiandii B) Only ii and iii

C) Only i and iii D) All the above (i, ii and iii)

The Right to Information Act which came into existence in 2005, aims to promote
transparency in Government Institutions and ensures the rights of citizens to public
information. Which of the following statement (s) is/are appropriate for referring the
State Information Commission as a quasi-judicial body ?

i. The Chief and other Commissioners are appointed by the Governor on the

recommendation of an appointment committee consisting of the Chief Minister as
Chairperson.

ii. The Information Commission has to receive and inquire into a complaint from any
person.

iii. The Commission has the Suo-moto power since it is authorised to order an inquiry
into any matter if there are reasonable grounds.

iv. While inquiring, the Commission has the powers of a civil court in respect of civil

matters.
A) Only i, ii and iii B) Only ii, iii and iv
C) Only i, iii and iv D) All the above (i, ii, iii and iv)
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30. Gspar LI LbSTWSH0 2 6TaT SLHSHETL_ 61hF FL L OGNS & (LPSHET, YTFIIGEDLOLIL|F

31.

FUL M6 upmISLILL H6TaT 9eevg FLU L OHTDSSTH evews LTS5 S %ermed
QULPBISLILIL L @IF(LpernS6T, allS)%6T, FienenT alF%H6T, Hienewid FLI_BIH6T CLITGTDIDHED
2 (hUTSGHLD YPFTIBISOT YUIey OFIg FL L FeoLdbEG YPsens ellss HyFHTILh
QupmieTeng. dsemsw LITHBHB ST & LpalD@&e6Tr LAFlew yId LPPI LITTTE@LOGTDLD
Filwns QFwdLIRSSLILIBSDSI.

A) cuewfls g Gevrseness @ Lp B) Oungitiuesiissmet @wp

C) Qg s6w15:E% @hdSTCT & (LD D) gyewewrs F1 L SpEsmeT &Lp

QBB w Blieurssd Creneuuilest 9y LitienL_ulled o HeurdsLiul L Cager Blieunsd Cxeneu
(KAS), paubrii1,2021. wpsed pevL_(pedps@ aupbssl. Csger plieunrss Ceeneuuilest (KAS)
LestaupLd @mlsGamersaflcy, Cagar Hliaurs Csanal (KAS) S bds all@ser2019 @6 g,
615 Filwneg ?

i. 9uFnBISSB e CFMeTenFHeT LoPMILD S L_miFener FpibLiL_ Blicurs fHwrs
QFWGOLI(DSSHIUSDEH TS 9 TFTBISSHDHTES [T6euTSSH e Loules @)IesTL_meusg)
auflenawins g carfluiigseflesr CHL_eo 2 (HauTdh@SGHsHe0.

ii. opemms Crevaiuled LNTSIFLOTEST, HDELOWTET LoPMILD TLILIGSTILIL 6T
YBDSTNEEHEG UTLILILF®GT ILpmI&GS6e wHmitd ClLng CFeanauuiey epds Hlenecy
Blieurs wppib Blieuns LFals@rd@ Yauisenar SwmiLi(hdase.

iii. Gagar CaL_Med @QBFw Blicurs Cseaneu yPsriseamer gy Caitiy CFwIcuSHHTEST
oBLIL_T GUENEHEIW 2 (h6UTSHSS6V.

A) i wpmib i o (HLb B) i opmyib i o (B1ib
C) i wpmyb iii or” H)Lb D) GG 2 éiter yewesiggiib (i, ii, ii)

32. 2005 Q&b pevL_ (Lpewpd@ aubS FHaUcy YWlujd o Meniod FL 1 1D, 95 BlNIeUesTEISE6D

OleuallliLienL_gseitenioemw GLotbLiRSsieues CrrésLonss: Osmessi(herars Lopmitb GlLing)
SHAUNSESS GLYL0S%HafeT 2 Meniosemar 2 pi%) CIFIS D). LOTBIV FHAIGH 960 eRTILISS
R IdT-EPSHmD Yemwliuins GoLBeasH@ Neteu@pd ynlsamssafed 615
QS SLomesIg)
. wWpseveud PmILb LD YeHERTWITHET, S YOLOFF TS ClBTETL FlILDewTS
@upadlest LMbgenguilest Cued gy@pBITe HlWILhdsLILIGF D TiH6T.
ii. saeucd gyementwitd 61bS0leunm pLUML_LOBHSILD LFSTenTLl Cupn allFrids
Gouam (@b,
ii. plwumuibnes sTgestBIS6T @) (BESTE, 61hs0leun(h alapuisPHed allFmyenentdE
2 $ggailL YFHEMIb ClLPHWI6TensTed, YeennSBnH@ Fw-Cor GLm yFsmyLb
2 _GITaTS).
iv. aflgmé@ Cung, Faled alleustymser QOsTLiLITs YeenusHnE Faile
BBLDGTDS S G B FTIBIFET 2 GTGTGT.
A) i, i Lopmyih il o @b B) i, iii tommyib iV oL” b
C) i, iii opmytb iv oL” b D) GoGev 2 itar yemesiggid (i, i, i, iv)
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33.

34.

35.

36.

Five departments along with respective directorates under the Kerala Local Self-
Government has been merged into a single department [Local Self-Government
Department (LSGD) Common Service] on 19" February, 2022. Which of the following
department/directorate is not included in the aforesaid merger ?

A) Planning and Economic Affairs Department
B) Panchayat

C) Rural Development

D) Town and Country Planning

In a human male, a normal sperm contains autosomes and
A) Both X’ and ‘Y’ chromosomes

B) Either X’ or Y’ chromosome

C) Two ‘X’ chromosomes

D) Two Y’ chromosomes

Human Development Index (HDI) includes

1. Life expectancy at birth

2. Infant Mortality Rate (IMR)

3. Gross national income per capita

4. Mean years of schooling

A) 1,2and 3 B) 1,2and 4
C) 2,3and 4 D) 1,3and 4

The following question consists of two statements. One labelled Assertion (A) and

the other labelled Reason (R).
Assertion (A) : Rabies is an acute infectious disease of warm blooded mammals
characterised by involvement of Central Nervous System resulting

in paralysis and finally death.

Reason (R) : Rabies is caused due to neurotropic bacteria in the saliva of rabid
animals.

Select the correct answers to this question from the codes given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)
3. (A) is true, but (R) is false

4. (A) and (R) are false

A) 1 B) 2

C) 3 D) 4

-16-
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Qigeum 19, 2022 yeviny, Cager o etertl  §g sFewpullest Gip 2 6irer IYbFhs
Q@)W SRTIHBI%HEHL_6T 255 FHidDFHEHLD @GT FIODWITS [2 6iTears T Fii-TH FIeOD
(LSGD) Glingys Crema] @)enessdsLiil (Beranet. GLopdmpliammled SLpssenL_e1b55
BlD/Quid@&prsb CFidaliLi_ alldenev ?

A) @ L 1O 6) opmih OLimmeTTSTr aNUSTIBISET SHIeHD

B) uehemuds

C) eanrps auariss

D) m&gb wopmih pr® S 1O _6d

R Lo6vTE Y ewtleD, @ F1gTIenT allbgemialley gy GL_rCGFmbser LoHmILD
2 _GITETH).

A) X wpmib Y GCorGonGmibaser @)uevt(pLb

B) X wyjeveva ‘Y’ &CunGonGamibseir

C) @uess®p X &ConGonGsmibaser

D) @uein( Y’ &CorGonGsmibaser

wesflg euerid®s @mlui® (HDI) oy mi@Lb

1. Owé@b Cung yu’ sreib

2. Gyims @oiiy a9Fsw (IMR)

3. Gwigs CsGw cu@pLOTGTLD F6s|BLIT

4. verefliLig 196t FgnFm oy e8(HseT

A) 1,2 wpmib 3 B) 1,2 wpmnb4 C) 2,3 wpmb4 D) 1,3 wpmib 4

QesteupLdb Cseirall @uesst(h) 2mldbemssaard Osme(Rarars). eeim Fmpnn. (A) eresmyLb
) Glmremy srgewib (R) ereiimyd GliwiMe i 1 g).
Fpmi (A) . Guiiew e16s1Lig) OlougOeug LiLimes (R)755Lb ClsmessL LimeyTL 19 Seflesr
sheowner CsmHy Crmum@Lb. @)% eoLoW BILDL| LOGHTL 556
FRUTL LT adSIU®BSSLIUGEDS, @6 ajlewaralrs
LSSUTSLD LoHMID @mISuled ogenTib eTDLI(BHF D).
smgewtid (R) 1 Grliev aflevsigsatler o tOippiley o erar BluyCom Crmiis
undieflwmeured Guiev eHL®FmSI.
GG Casr®ssLILC Betar @Gpluibhsellcy Qhis QbSd Coheralse@pssmer Fiiiimet
uBevsemaers Csiph0s(HdSa Lb.
1. (A) oo (R) @uewsrd i wpmiib (R) eresrug (A) @er slwne alerdsib
2. (A) wppib (R) @uoewsr®d #f wpmitb (R) ereirg (A) @)t sflwnes aflardsib gjevev
3. (A) #fl yemrev (R) ereiriigy seumy
4. (A) wpmib (R) @uasib saim
) 1 B) 2 C) 3 D) 4

>
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37. Which of the following statements is/are correct about ‘Aardram Mission’ ?

1. Aardram ensures community participation through ASHA, WHNCS and Kudumbasree
health workers.

The main focus is to achieve SDG 4.
Provide access to comprehensive health services for marginalised population.

oW N

One of the main objectives is to re-engineering PHCs to FHCs.
) Only 1 B) 2,3and 4
C) 1,2,3and 4 D) 1,3and 4

>

38. Pulse Polio Immunization is administration of OPV to
A) All children between 0 — 5 years of age, wherever there is an outbreak

B) All children between 0 — 5 years of age on a single day irrespective of their previous
immunization status

C) All children between 0 — 5 years of age who have not been immunized previously
D) None of the above

39. One Newton is equal to dynes.
A) 1000 B) 10000
C) 100000 D) 1000000

40. The energy required to remove a body of mass m from the earth’s surface is equal to
A) mgR B) 2 mgR
C) Zero D) -2 mgR

41. A small drop of liquid is spherical in shape due to
A) Viscosity B) Buoyant force
C) Gravity D) Surface tension

42. When the object is at distances u, and u, from the optical center of a convex lens,
a real and virtual image of the same magnification is obtained. The focal length of

the lens is
A) —2 B) —2
C) 2u, D) 2u,

A 18-
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37. ‘gyidgib heapet LpHY LIeTeu B Fpmusefley 615 Filwmesg ?

1. ASHA, WHNCS wppith @@ LbLf #S15TrL1 Lesumeariser eLpevLd 9y idatb FepsL
umiseilieou 2 n% CFIBns).

2. SDG 4 @ 9G35 (LpsGw FHaueL.
3. afleflibyblency 0ds @%@ alMeunest FHMHTT CFeDaIHEBHHTCT 2GSV

QULPMISHS 6.
4. PHCs sener FHCS sers wmiGFeowling) ps&w Crrésnisaleh qeim.
A) 1w @b B) 2,3 wpmub4 C) 1,2, 3 wpmub4 D) 1,3 wpmb 4

38. wevev CureliCur Crmuiss®LiLy eerug OPV eneu 6ClFadsse.

39.

40.

41.

42.

A) emiQsevevnd Crmut Ligeued eipul L Csm gymigerer, 0 —5 euwigd@L L SjeneTds)d
GLEDSS@pSEGLD

B) weuiseller wppemgw Crmuigs®iiy Cum_Liul 14 @mps Blenevuied gL, 0 —5
UGG LL L I»eTSHI5 SLpHanSs@sLd @G Brefled

C) wpery Crmigs® iyl CGum i 1%, 0 —5 auwgis@GLl UL L gaerdgd
GPEDSSEESSELD

D) @emeusafled 61510 Lblcbenev

@(p Byl L ebr ®L_GHT%@Whd(F FLOLD.

A) 1000 B) 10000 C) 100000 D) 1000000
yyiludesr Gopuipiinied @ mwmpg M Blevpujenr_w @ ClLTEe»ar YspmiaSH S
Caemaumest gHmed & FLOLD.

A) mgR B) 2 mgR C) yeedluwib D) -2 mgR

@b APw gofl Foeud Camear eugaled Q)EBLILIGI @Q)FeTTeD

A) unagseienio (Viscosity) B) wsemeu alens (Buoyant force)

C) iy (Gravity) D) Gupumiiy uspoid (Surface tension)

@ &abg ClevasTeniladr 9y L1194 56b eLowidGedBbS U, opmib U, Qs renevaileh GlLimmer
QBSGL0OLTGE, 9Cs o (HLICLIHSSSS6 2 aveniownest opmitb CoulBlEi LiL b
QupLIL®Fwal. Ceveradesr @allw Barb

u,—u u,+u
p i o) 45t

C) 2u, D) 2u,
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43.

44,

45.

46.

47.

Two atomic orbitals are represented by the quantum numbers
1. n=3,|=2and m=+2 and

2. n=3,1=2and m=-1 respectively.

Choose the correct statement.

A) They have the same energy

B)

C) The second orbital (with m = —1) has more energy
D)

The first orbital (with m = +2) has more energy

None of the above statements are correct

Consider the following statements :
In diborane
I. Boron is approximately sp® hybridised.
II. B-H-B angle is 180°.
lll. There are two terminal B-H bonds.
IV. There are only 12 bonding electrons available.
Of these statements
A) |, Il and IV are correct B) I, Il and Ill are correct
C) IlI, Il and IV are correct D) I, lll and IV are correct

Which of the following compounds possess Lewis acid character ?
I. BF

3

. NH,

. H,0

Choose the correct answer.

A) | alone B) I, lland llI C) lland Il D) land lll

Hydrogel capsules used by Kerala farmers for conservation of soil moisture
contains

A) Rubber B) Polypropylene  C) Starch D) Polystyrene

‘Chetana Grdha Mullick’ is a character in a famous novel in Malayalam.
A) Manju B) Delhi Ghadhakal
C) Aarachar D) Khasakkinte Ithihasam

-20-
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43. Queit(h) e FDOMILILITEDSHET (&eUTERTL LD GTERTSATTE) (& 1)dh%L1LI(5%) T 6wt
1. n=3,1=2 wppb m=+2
2. n=3,1=2 wpyb m=-1
Filwres gmlsemsenws Csinh0)sHSSa Lb.
A) Quemhib Gy yppevev OHTessTL a6l
B) wse spmpitimeng (M =+2 2.1_651) G5 Do ClF T
C) Quessi_moug spmiciumeng (M =—1 2.1 61) HHs YnHoed O)HTessL_g)

D) GuGov 2 6irar Mlsem&H6T 615/ LD FITGTEDR V6V

44. 196510u(HLD WSSO FecHT UL BISH6T
L CurGgesflev
I. Gumgnest Cgmumuipms SP?® sevLilesTiomess)
II. B-H-B Gxmewrb 180°.
. @uess®) (pemestw B-H Lenewtiijser o erare.
IV. 12 DemewiiiL) eTevdL” greirser ol HGLo o 6iTererr.
(O ERE LX)
A) 1 Il wpmb IV sflwnetene B) I, Il opmyp Il swimesteneu
C) I, Nl wpmb IV siwmeseneu D) I, Il wopmyib IV sflwnereneu

45. 9estaupd Cariomsaied 618 eruilav 9jLflevs Fetevioenwid Glsmess(HeTeng ?
l. BF,
. NH,
1. H,0
Filwmes aflew_emws Csiin0)s®.

A) | o @b B) I, Il wpmyb 1l C) 1 opmyeb Il D) | opmyep Il

46. Loevresstlest FILILISS®SLI LINgHn5% Cager aleusdmuiser LweTLBds b aanl” Crrbleed
STLIVW ST @)% 2 6Tars ?
A) gl B) wmeSliGgmiifel)esr
C) evL_mig D) wmeSevig fesr

47. ‘Gasent Fusm L6l LDeneuTeT$Se) 6@ LITLIGVLOTET 6T5h% Breuede (b LTSS ?
A) weEpx B) 0_cvad) sss60
C) <yumsai D) 5548e10GL @& H1FLb
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48.

49.

50.

51.

52.

53.

is a performing art in Kerala conceptualised about eighty years ago by Guru
Gopinath.

A) Padayani B) Kerala Nadanam
C) Koothu D) Kalarippayattu

Milano Cortina — 2026, the next Winter Olympics will be held in which country ?
A) France B) ltaly
C) Spain D) None of these

Which of the following statements are wrong ?

1. Attachamayam celebration is associated with Trippunithura Town near Cochin.
2. Cassia Fistula is the scientific name of Lotus.

3. The first mosque in India is in Delhi.

4. St. Thomas, the apostle landed in Muzris.

A) 1,2and 4 B) 1and 2

C) 2and 3 D) 4 only

What should come in place of the question mark (?) in the following question ?

31_,_41_2%_12:?
6 2 3

12
5

A 1= B) 1—
12 12

7 1

C) 3 D) 3—
12 12

Two students appeared at an examination. One of them secured 9 marks more than
the other and his marks was 56% of the sum of their marks. The marks obtained by
them are

A) 39, 30 B) 41,32
C) 42,33 D) 43, 34

If a man can cover 12 metres in one second, how many kilometres can he cover in
3 hours 45 minutes ?

A) 150 Km B) 156 Km
C) 162 Km D) 168 Km

20
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etesIg) Cagarmalley & CHTLIBISE GTGTLIQITTC) 6TeRTLISG| 46T(h%Eh% S
(LGS H(BSSTEHLD ClFIILIIL L @1h Fewev FSPFAWTEGHLD 2
A) Lewi_wesl B) Gsper mL_ewib
C) sz D) serfciLiwmm

lewGerr smigerm — 2026, HBSS @Gaflisnew e@edlblldbev 61hs BT 1460 BL_GFLI
L®Sng ?

A) Qgreirenv B) @ssma

C) avQluufesr D) @aaeu 61810 bebeney

L96TRUBLD FmDmIFaflc) 615 Seumresd) ?

1. wgsndswid OsnessrLm L b COs1ERSE BB y6Tar S HLILesi|Sa Tm
BSISSIL_GT QML _wig).

2. Cassia Fistula eretrig smweoguilesr oplafwed G,

3. QBFwralet (s &S 6Lcvedluileh 2 sirers).

4. siw gsgmgd CFdyb OFuller smev og@Medle e @)DEIF T,

A) 1,2 wpmib 4 B) 1 wpmb 2 C) 2 wpmib 3 D) 4 " ®ib

etreupd Caeralluiley Caeralld@m) (?) @& LS ewrs erestar aug Gouesst(Gd 2

31yl 22 41,
6 2 3 12

5
A 1~ B) 1—
12 12
7 1
C) 3 D) 3—
12 12

@uewr(® rewteuiser Cxialled Hevbg O\sTevsTL i, euisafled @@beur LPDaIHT
afl_ 9 & 10 LTS HBHLD ClLIDMIGTOTTH, HYeU[hen L i LSO LIGHTHET e idhenes
HLICLeTSeMN6T gnl” (B0 TemHUNH 56% Y @Lb. Yauiser QP oG L16)LIcETSeT
A) 39,30 B) 41,32 C) 42,33 D) 43, 34

@b Lesiiger 12 15 L_evg gp QUpmiguileh $L_ds (LpiguLb e16apred, et 3 oewfl GprLb
45 Bl _misefley e1dFemaest HCTLOL L T $L_%& (LplgujLb ?
A) 150 Km B) 156 Km C) 162 Km D) 168 Km
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54.

55.

56.

57.

58.

59.

60.

How many numbers between 11 and 90 divisible by 7 ?
A) 10 B) 11
C) 12 D) 13

The perimeter of a rectangle and a square is 80 cm each. If the difference between
their areas is 100 cm, find the sides of the rectangle.

A) 30cm, 10 cm B) 40 cm, 15cm

C) 25cm,10cm D) 20 cm, 30 cm

If ‘=" means ‘+, = means ‘', ‘x’ means —, ‘+' means ‘x’ ,then62 +8—-4x12+4="7?
A) 16 B) 26

C) 1/16 D) 6

The numbers/terms follow a certain pattern throughout the series. Find the missing

term 40, 30, 22, 16,
A) 10 B) 12
C) 15 D) 17

If in a mirror a clock shows time as 12:40, then the real time is
A) 11:20 B) 10:10
C) 8:10 D) 12:40

B is the brother of A, S is the sister of B, E is the brother of D, D is the daughter of A,
F is the father of S. Then the uncle of E is

A) B B) A
C) D D) F

| am facing East. Turning to the right | go 20 m, then turning to the left | go 20 m
and turning to the right I go 20 m, then again turning to the right I go 40 m and then
again, | go 40 m to the right. In which direction am | from my original position ?

A) North B) West

C) South D) East
-24-
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11 wpnib 90 &@ Qe _uiled e1HFmaT 6TavvTaH6T 7 6D U@GHL(BILD ?
A) 10 B) 11
C) 12 D) 13

R(H CFaIUSLD LPMILD G(h FHITSD 6T HDDarey @elbleurnsinid 80 GF.15. eummlesr
LGS 5 ens5@ @enL_Cuw 2 _erer algGwinsid 100 M ereiipred C1F6i1cUSSFGHT LidHBIS 6T
HOTL_PlieyLb

A) 30cm, 10 cm B) 40 cm, 15cm C) 25cm, 10 cm D) 20 cm, 30 cm

‘+ etadipIed ‘+, = eretipmey ‘+, X ereiipAey =, ‘+’ erevimI) ‘X, 6TGHM EMeUbFIS
CFmevstL_mev 62 +8—4x12+4="7

A) 16 B) 26

C) 1/16 D) 6

40, 30, 22, 16, ...... @Bev eTavTHGT O\FTLIT (Lp(LPeUSILD (B GBI L (LpempenuiL]

LSTLD S GSTDest. all(LIL L 6T60T 6T6HT6T ?
A) 10 B) 12
C) 15 D) 17

saTentiiguiled @b H9sTid Cpidens 12:40 eretipy HTL 19 GSTT6Y, 2 GHSTENLO W TG

(€13
A) 11:20 B) 10:10
C) 8:10 D) 12:40

B eres1iz) A @)estaCansiest, S gy ez B @etraCansif, E gyewms D ullesr #Csng e, D gy euzi A,
@it wser, F ez S @6t spens. g wretted E @6t omom wimi 9

A) B B) A

C) D D) F

b6t Hpd@ Crrss @) msFH0Omet. auevg LSsHD HHbrd 20 M, 9n@ QL& LIdsLb
& b9 20 M, e s LG FHpo) 20 M, 9D s LSS F(HLdL
40 m, et (R euevLiymib F oL 40 M 6168 BL_BF M6, 6Ters Y Fev Hleanevuileh @)(Bbs
BI6T 6Ths FeavFuiled @)HSFCmesr 2

A) oL sy B) Gupws

C) Gspe D) Sips
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61. The word appendix has the plural
I. Appendixes
Il. Appendices
Ill. Appendixae
IV. Appendixum
A) | only B) I and Il only
C) 1l only D) lll and IV only

62. The medicines alleviate his pain to a certain extent.
Choose an antonym for the underlined word from the options given below :

A) agitate B) reduce C) decrease D) aggravate
63. The singer and dancer left the meeting.

A) has B) have C) were D) none
64. Everything matters now,

A) does it ? B) isntit? C) doesn’tit? D) isit?
65. Choose the correct spelling from the options given below :

A) Occurance B) Occurrence C) Occurence D) Occurrance

66. If you had missed the bus, you

Complete the sentence suitably.
A) will certainly be late. B) would certainly be late.
C) would certainly have been late. D) will certainly have been late.

67. The students were loath to leave the school after the final examination.
The word ‘loath’ is an example for the part of speech,
A) noun B) verb C) adjective D) adverb

68. They forbid the workers from going on a strike.
The given sentence may be rewritten as
A) The strike was forbidden from going on by the workers.
B) The workers are forbidden from going on a strike.
C) The strike is forbidden from going on by the workers.
D) The workers were forbidden from going on a strike.

69. They took a way to reach the destination.
Choose the best suitable word to fill in the blanks.
A) torturous B) tortuous
C) torture D) torturing
70. The word bona fide meaning genuine is a word.
A) Spanish B) French C) Latin D) Russian
71. PSTN stands for
A) Plain System Telephone Network B) Public System Telephone Network

C) Public Switched Telephone Network D) Private System Telephone Network

A -26-



72.

73.

74.

75.

76.

77.

78.

79.

80.

123/22 -T

In ISDN BRI, the maximum bit rate of d channel (signalling channel) is
A) 64 KBPS B) 16 KBPS C) 144 KBPS D) None of the above
Which of the statement is incorrect ?

ISDN is

A) A reliable connection

B) To facilitate the user with multiple digital channels

C) Costlier than the other telephone system

D) More flexible

In a PABX system, which is considered as a disadvantage

A) Maintenance B) No operator

C) Cost D) Customer experience
Which is not applicable in the case of PABX ?

A) Auto attendant B) Call queueing

C) Call transfer D) Operator

The component of a PABX system that connects the internal network to the outside
world

A) Exchange B) Handsets
C) Gateway D) Operator

The advantages of Hybrid IP PBX over traditional telephone systems are
A) Scalability, Lesser Features, Reliable and Better Call Quality

B) Scalability, More Features, Reliable and Better Call Quality

C) Scalability, More Features, Reliable and Poor Call Quality

D) Scalability, More Features, Unreliable and Poor Call Quality

In Voip, SIP means

A) Session Initiation Protocol

B) Standard Internet Protocol

C) Standard Internet Procedure

D) None of the above

With reference to a Hosted PBX system, which of the following is not correct ?
A) It has a remote data centre

B) Itis an advanced cloud telephone system

C) Itis an on-premise volp solutions
D) It has redundancy in case of outages

The advantage of an On-Premise PBX system could be

A) Suitable for the internet powered telephone networks
B) Initial cost is lower

C) Offers customers more control over their phone system
D) None of the above
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

To select an appropriate EPABX one need to have proper knowledge about
A) The traffic pattern inside the office

B) All the internal and external requirements of the organization

C) Features required

D) All the above

An IVR means

A) Integrated Voice Recording B) Integrated Video Recording
C) Interactive Voice Response D) None of the above

What is an auto attendant ?

A) A business phone system feature B) Virtual receptionist

C) Customer self service D) All the above

In call parking feature, which is not correct ?

A) Caller is directed to a specific department

B) The caller directed onto a separate line that anyone in the organization can access

C) Especially important for companies with a large customer call centre or customer
service operation

D) None of the above

The feature of some call centre applications that allows a supervisor to listen live
to agent calls and if necessary, essentially turning them into three-way conference
call is called

A) Call parking B) Follow me C) Call forwarding D) None of the above
When you receive an incoming call, service will attempt to reach you on all
your devices-home, office, cell phone, etc. in a consecutive order that you define.

A) Call forwarding B) Call transfer C) Follow me D) None of the above

The feature which stops any incoming calls temporarily from ringing, can put all
distractions aside and can send the incoming calls to voicemail

A) Do not disturb B) Call parking
C) Call camp on D) None of the above

The feature that provides, service for multiple telephone numbers over one or more
analogue or digital physical circuits to the PBX and transmits the dialled telephone
number to the PBX, so that a PBX extension is directly accessible for an outside
caller, possibly by-passing an auto-attendant is called

A) Call forwarding B) Direct inward dialling
C) Auto attendant D) None of the above
Benefits of EPABX systems are

A) Internal communications B) Centralized control
C) Automation D) All the above

An electronic communication system in which spoken messages are recorded or
digitized and stored for later playback to the intended recipient, called as

A) Short Message Service B) IVRS
C) Voice Mail System D) None of the above
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